Cloverdale Curling Club
Saturday Doubles

A Block (Round 1) October 12 October 19 November 02 | November 09 | November 16
4:00 PM 4:00 PM 4:00 PM 4:00 PM 4:00 PM

Win 5.000 Points 0 I w 0] I w 0 I w 0] I w 0 I w

Tie 2.500 Points c p c 0 p c 0 p c 0 p c 0 p c 0

wn Loss 0.000 Points = p E n p E n p E n p E n P E n
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Pts. | Seed Team Pts. t t t t t t t t t t
0 1 Rink 0.0 | B1]| 4 3 5 L 4 3 5 7 2 3
0 2 Wu 100 3 3 wW 5 6 W | B2]| 5 4 4 1 3
0 3 O'Byrnes 5.0 2 3 L 1 5 wW 5 4 B3] 3 4 7
0 4 Chin 0.0 5 5 L B4| 4 1 3 2 4 3 7
0 5 Hit and Stick 5.0 4 5 W 2 6 L 3 4 1 7 B5] 6




Cloverdale Curling Club
Saturday Doubles

B Block (Round 1) October 12 October 19 November 02 | November 09 | November 16
4:00 PM 4:00 PM 4:00 PM 4:00 PM 4:00 PM

Win 5.000 Points @) 0] I w o] I w 0] I w o] I w 0] I w

Tie 2.500 Points c p c 0 p c 0 p c 0 p c 0 p c 0
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Seed Team Pts. t t t t t t t t t t
1 Tap it Tight 0.0 JAl1l]| 4 3 7 L 4 6 5 5 2 4
2 Rock Stars 2.5 3 6 L 5 3 T A2]| 5 4 6 1 4
3 Fawcett 100} 2 6 wW 1 7 wW 5 7 A3]| 3 4 5
4 Hack Ups 00| 517 L JA4]| 4 116 21| 6 315
5 Hadfields 7.5 4 7 W 2 3 T 3 7 1 5 A5] 6




Current Points  10.000 Rank 1 Team Wu
Rankings 10.000 2 Fawcett
Saturday Doubles 7.500 3 Hadfields
5.000 4 O'Byrnes
5.000 5 Hit and Stick
2.500 6 Rock Stars
0.000 7 Rink
0.000 8 Chin
0.000 9 Tap it Tight
0.000 10 Hack Ups



